
 

   or d… The second mark is  
dependent on gaining the 
first mark 
 

 
 
 

3. All M marks are follow through. 

All A marks are ‘correct answer only’ (cao.), unless shown, for example, as A1 ft to 
indicate that previous wrong working is to be followed through. After a misread 
however, the subsequent A marks affected are treated as A ft, but answers that don’t 
logically make sense e.g. if an answer given for a probability is >1 or <0, should 
never be awarded A marks.  

4. For misreading which does not alter the character of a question or materially simplify 
it, deduct two from any A or B marks gained, in that part of the question affected. 

5. Where a candidate has made multiple responses and indicates which response they 
wish to submit, examiners should mark this response. If there are several attempts at 
a question which have not been crossed out, examiners should mark the final answer 
which is the answer that is the most complete. 

6. Ignore wrong working or incorrect statements following a correct answer. 

7. Mark schemes will firstly show the solution judged to be the most common response 
expected from candidates. Where appropriate, alternative answers are provided in the 
notes. If examiners are not sure if an answer is acceptable, they will check the mark 
scheme to see if an alternative answer is given for the method used. If no such 
alternative answer is provided but deemed to be valid, examiners must escalate the 
response to a senior examiner to review. 
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Answer ALL questions.  Write your answers in the spaces provided.

1. The curve C has equation

 y = 3x4 – 8x3 – 3

 (a) Find (i) d
d
y
x

   (ii) d
d

2 y
x2

(3)

 (b) Verify that C has a stationary point when x = 2
(2)

 (c) Determine the nature of this stationary point, giving a reason for your answer.
(2)
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Question 1 continued
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(Total for Question 1 is 7 marks)
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Answer ALL questions.  Write your answers in the spaces provided.

1. The curve C has equation

 y = 3x4 – 8x3 – 3

 (a) Find (i) d
d
y
x

   (ii) d
d

2 y
x2

(3)

 (b) Verify that C has a stationary point when x = 2
(2)

 (c) Determine the nature of this stationary point, giving a reason for your answer.
(2)
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Question 1 continued
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(Total for Question 1 is 7 marks)
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2.

O

Figure 1

C

A O D

3cm

12cm

0.4

B

 The shape ABCDOA, as shown in Figure 1, consists of a sector COD of a circle centre O 
joined to a sector AOB of a different circle, also centre O.

 Given that arc length CD = 3 cm, ∠COD = 0.4 radians and AOD is a straight line of 
length 12 cm,

 (a) find the length of OD,
(2)

 (b) find the area of the shaded sector AOB.
(3)
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3. A circle C has equation 

x2 + y2 – 4x + 10y = k

 where k is a constant.

 (a) Find the coordinates of the centre of C.
(2)

 (b) State the range of possible values for k.
(2)
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(Total for Question 3 is 4 marks)
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2.

O

Figure 1

C

A O D

3cm

12cm

0.4

B

 The shape ABCDOA, as shown in Figure 1, consists of a sector COD of a circle centre O 
joined to a sector AOB of a different circle, also centre O.

 Given that arc length CD = 3 cm, ∠COD = 0.4 radians and AOD is a straight line of 
length 12 cm,

 (a) find the length of OD,
(2)

 (b) find the area of the shaded sector AOB.
(3)
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(Total for Question 2 is 5 marks)
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3. A circle C has equation 

x2 + y2 – 4x + 10y = k

 where k is a constant.

 (a) Find the coordinates of the centre of C.
(2)

 (b) State the range of possible values for k.
(2)
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(Total for Question 3 is 4 marks)
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4. Given that a is a positive constant and 

t
t

t
a

a + =∫ 1 7
2

d ln

 show that a = lnk, where k is a constant to be found.
(4)
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(Total for Question 4 is 4 marks)
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5. A curve C has parametric equations

x = 2t – 1,   y = 4t –7 + 
3
t

,   t ≠ 0

 Show that the Cartesian equation of the curve C can be written in the form 

y x ax b
x

= + +
+

2
1

2

,    x ≠  –1

 where a and b are integers to be found.
(3)
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(Total for Question 5 is 3 marks)
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4. Given that a is a positive constant and 

t
t

t
a

a + =∫ 1 7
2

d ln

 show that a = lnk, where k is a constant to be found.
(4)
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5. A curve C has parametric equations

x = 2t – 1,   y = 4t –7 + 
3
t

,   t ≠ 0

 Show that the Cartesian equation of the curve C can be written in the form 

y x ax b
x

= + +
+

2
1

2

,    x ≠  –1

 where a and b are integers to be found.
(3)
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(Total for Question 5 is 3 marks)
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6. A company plans to extract oil from an oil field.

 The daily volume of oil V, measured in barrels that the company will extract from this 
oil field depends upon the time, t years, after the start of drilling.

 The company decides to use a model to estimate the daily volume of oil that will be 
extracted.  The model includes the following assumptions:

 • The initial daily volume of oil extracted from the oil field will be 16 000 barrels.
 • The daily volume of oil that will be extracted exactly 4 years after the start of drilling 

will be 9000 barrels.
 • The daily volume of oil extracted will decrease over time. 

 The diagram below shows the graphs of two possible models.

V

tO

(0, 16 000)

(4, 9000)

Model A

V

tO

(0, 16 000)

(4, 9000)

Model B

 (a) (i) Use model A to estimate the daily volume of oil that will be extracted exactly 
3 years after the start of drilling.

  (ii) Write down a limitation of using model A.
(2)

 (b) (i) Using an exponential model and the information given in the question, find a 
possible equation for model B.

  (ii) Using your answer to (b)(i) estimate the daily volume of oil that will be extracted 
exactly 3 years after the start of drilling.

(5)
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Question 6 continued
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6. A company plans to extract oil from an oil field.

 The daily volume of oil V, measured in barrels that the company will extract from this 
oil field depends upon the time, t years, after the start of drilling.

 The company decides to use a model to estimate the daily volume of oil that will be 
extracted.  The model includes the following assumptions:

 • The initial daily volume of oil extracted from the oil field will be 16 000 barrels.
 • The daily volume of oil that will be extracted exactly 4 years after the start of drilling 

will be 9000 barrels.
 • The daily volume of oil extracted will decrease over time. 

 The diagram below shows the graphs of two possible models.

V

tO

(0, 16 000)

(4, 9000)

Model A

V

tO

(0, 16 000)

(4, 9000)

Model B

 (a) (i) Use model A to estimate the daily volume of oil that will be extracted exactly 
3 years after the start of drilling.

  (ii) Write down a limitation of using model A.
(2)

 (b) (i) Using an exponential model and the information given in the question, find a 
possible equation for model B.

  (ii) Using your answer to (b)(i) estimate the daily volume of oil that will be extracted 
exactly 3 years after the start of drilling.

(5)
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7.

A

B

C
Figure 2

 Figure 2 shows a sketch of a triangle ABC.

 Given AB
→

 = 2i + 3j + k and BC
→

 = i – 9j + 3k,

 show that ∠BAC = 105.9° to one decimal place.
(5)
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 Figure 2 shows a sketch of a triangle ABC.

 Given AB
→

 = 2i + 3j + k and BC
→

 = i – 9j + 3k,

 show that ∠BAC = 105.9° to one decimal place.
(5)
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Question 7 continued
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8.	 	 f	( x )	=	ln(2 x	−	5)	+	2 x 2	−	30,	 x > 2.5

	 (a)	 Show	that	f	( x )	=	0	has	a	root	α in the interval [3.5, 4]
(2)

 A student takes 4 as the first approximation to α. 

	 Given	f(4)	=	3.099	and	f ʹ(4)	=	16.67	to	4	significant	figures,

 (b) apply the Newton-Raphson procedure once to obtain a second approximation for α, 
giving your answer to 3 significant figures.

(2)

 (c) Show that α is the only root of f (x) = 0
(2)
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Question 8 continued
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8.	 	 f	( x )	=	ln(2 x	−	5)	+	2 x 2	−	30,	 x > 2.5

	 (a)	 Show	that	f	( x )	=	0	has	a	root	α in the interval [3.5, 4]
(2)

 A student takes 4 as the first approximation to α. 

	 Given	f(4)	=	3.099	and	f ʹ(4)	=	16.67	to	4	significant	figures,

 (b) apply the Newton-Raphson procedure once to obtain a second approximation for α, 
giving your answer to 3 significant figures.

(2)

 (c) Show that α is the only root of f (x) = 0
(2)
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Question 8 continued
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9. (a) Prove that 

tan cot 2cosec2 , ,

2

nπθ θ θ θ n+ ≡ ≠ ∈ Z

(4)

 (b) Hence explain why the equation

tan cot 1θ θ+ =

  does not have any real solutions.
(1)
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10. Given that θ is measured in radians, prove, from first principles, that the derivative  
of sin θ is cos θ

 You may assume the formula for sin(A ± B) and that as h →0, sin h
h

 →1 and cos h
h

− 1  → 0

(5)
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9. (a) Prove that 

tan cot 2cosec2 , ,

2

nπθ θ θ θ n+ ≡ ≠ ∈ Z

(4)

 (b) Hence explain why the equation

tan cot 1θ θ+ =

  does not have any real solutions.
(1)
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10. Given that θ is measured in radians, prove, from first principles, that the derivative  
of sin θ is cos θ

 You may assume the formula for sin(A ± B) and that as h →0, sin h
h

 →1 and cos h
h

− 1  → 0

(5)
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11. An archer shoots an arrow. 

 The height, H metres, of the arrow above the ground is modelled by the formula

H = 1.8 + 0.4d – 0.002d 2,    d  0

 where d is the horizontal distance of the arrow from the archer, measured in metres.

 Given that the arrow travels in a vertical plane until it hits the ground, 

 (a) find the horizontal distance travelled by the arrow, as given by this model.
(3)

 (b) With reference to the model, interpret the significance of the constant 1.8 in the formula.
(1)

 (c) Write 1.8 + 0.4d – 0.002d 2 in the form

A – B(d – C )2

  where A, B and C are constants to be found.
(3)

 It is decided that the model should be adapted for a different archer. 

 The adapted formula for this archer is 

H = 2.1 + 0.4d – 0.002d 2,    d  0

 Hence or otherwise, find, for the adapted model

 (d) (i) the maximum height of the arrow above the ground.

  (ii) the horizontal distance, from the archer, of the arrow when it is at its maximum height.
(2)
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Question 11 continued
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11. An archer shoots an arrow. 

 The height, H metres, of the arrow above the ground is modelled by the formula

H = 1.8 + 0.4d – 0.002d 2,    d  0

 where d is the horizontal distance of the arrow from the archer, measured in metres.

 Given that the arrow travels in a vertical plane until it hits the ground, 

 (a) find the horizontal distance travelled by the arrow, as given by this model.
(3)

 (b) With reference to the model, interpret the significance of the constant 1.8 in the formula.
(1)

 (c) Write 1.8 + 0.4d – 0.002d 2 in the form

A – B(d – C )2

  where A, B and C are constants to be found.
(3)

 It is decided that the model should be adapted for a different archer. 

 The adapted formula for this archer is 

H = 2.1 + 0.4d – 0.002d 2,    d  0

 Hence or otherwise, find, for the adapted model

 (d) (i) the maximum height of the arrow above the ground.

  (ii) the horizontal distance, from the archer, of the arrow when it is at its maximum height.
(2)
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12. In a controlled experiment, the number of microbes, N, present in a culture T days after 
the start of the experiment were counted.

 N and T are expected to satisfy a relationship of the form 

N = aT b,    where a and b are constants

 (a) Show that this relationship can be expressed in the form

log10N = m log10T + c

  giving m and c in terms of the constants a and/or b.
(2)

log10N

log10 T0

 –

0.2

 –

0.4

 –

0.6

 –

0.8

 –

1.0

 –

2.5 –

2.0 –

1.5 –

1.0 –

0.5 –

0 –

3.0 –

3.5 –

4.0 –

4.5 –

5.0 –

1.2

 –

1.4

 –

Figure 3

 Figure 3 shows the line of best fit for values of log10N plotted against values of log10 T

 (b) Use the information provided to estimate the number of microbes present in the 
culture 3 days after the start of the experiment.

(4)

 (c) Explain why the information provided could not reliably be used to estimate the day 
when the number of microbes in the culture first exceeds 1 000 000.

(2)

 (d) With reference to the model, interpret the value of the constant a.
(1)
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12. In a controlled experiment, the number of microbes, N, present in a culture T days after 
the start of the experiment were counted.

 N and T are expected to satisfy a relationship of the form 

N = aT b,    where a and b are constants

 (a) Show that this relationship can be expressed in the form

log10N = m log10T + c

  giving m and c in terms of the constants a and/or b.
(2)

log10N

log10 T0

 –

0.2

 –

0.4

 –

0.6

 –

0.8

 –

1.0
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2.5 –
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1.5 –

1.0 –
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3.0 –

3.5 –

4.0 –

4.5 –

5.0 –
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Figure 3

 Figure 3 shows the line of best fit for values of log10N plotted against values of log10 T

 (b) Use the information provided to estimate the number of microbes present in the 
culture 3 days after the start of the experiment.

(4)

 (c) Explain why the information provided could not reliably be used to estimate the day 
when the number of microbes in the culture first exceeds 1 000 000.

(2)

 (d) With reference to the model, interpret the value of the constant a.
(1)
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13. The curve C has parametric equations

x = 2 cos t, y = 3 cos	2 t, 0  t  π

 (a) Find an expression for d
d
y
x

 in terms of t.
(2)

 The point P lies on C where t = 
2

3

π

 The line l is the normal to C at P.

 (b) Show that an equation for l is

2x	−	2 3y	−	1	=	0
(5)

 The line l intersects the curve C again at the point Q.

 (c) Find the exact coordinates of Q.

  You must show clearly how you obtained your answers.
(6)

_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

23

*S54259A02332* Turn over     

 
D

O
 N

O
T W

RITE IN
 TH

IS A
REA

 
D

O
 N

O
T W

RITE IN
 TH

IS A
REA

 
D

O
 N

O
T W

RITE IN
 TH

IS A
REA

 
D

O
 N

O
T 

W
RI

TE
 IN

 T
H

IS
 A

RE
A

 
D

O
 N

O
T 

W
RI

TE
 IN

 T
H

IS
 A

RE
A

 
D

O
 N

O
T 

W
RI

TE
 IN

 T
H

IS
 A

RE
A

Question 13 continued

_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

_____________________________________________________________________________________

26 Pearson Edexcel Level 3 Advanced GCE in Mathematics – Sample Assessment Materials –  
Issue 1 – April 2017 © Pearson Education Limited 2017



22

*S54259A02232*

 
D

O
 N

O
T W

RITE IN
 TH

IS A
REA

 
D

O
 N

O
T W

RITE IN
 TH

IS A
REA

 
D

O
 N

O
T W

RITE IN
 TH

IS A
REA

 
D

O
 N

O
T 

W
RI

TE
 IN

 T
H

IS
 A

RE
A

 
D

O
 N

O
T 

W
RI

TE
 IN

 T
H

IS
 A

RE
A

 
D

O
 N

O
T 

W
RI

TE
 IN

 T
H

IS
 A

RE
A

13. The curve C has parametric equations

x = 2 cos t, y = 3 cos	2 t, 0  t  π

 (a) Find an expression for d
d
y
x

 in terms of t.
(2)

 The point P lies on C where t = 
2

3

π

 The line l is the normal to C at P.

 (b) Show that an equation for l is

2x	−	2 3y	−	1	=	0
(5)

 The line l intersects the curve C again at the point Q.

 (c) Find the exact coordinates of Q.

  You must show clearly how you obtained your answers.
(6)
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14.

O 1 x

C

S

y

3
Figure 4

 Figure 4 shows a sketch of part of the curve C with equation

y = x x2

3
ln 	−	2 x + 5, x > 0

 The finite region S, shown shaded in Figure 4, is bounded by the curve C, the line with 
equation x = 1, the x-axis and the line with equation x = 3

 The table below shows corresponding values of x and y with the values of y  
given to 4 decimal places as appropriate.

x 1 1.5 2 2.5 3

y 3 2.3041 1.9242 1.9089 2.2958

 (a) Use the trapezium rule, with all the values of y in the table, to obtain an estimate for  
the area of S, giving your answer to 3 decimal places.

(3)

 (b) Explain how the trapezium rule could be used to obtain a more accurate estimate for 
the area of S.

(1)

 (c) Show that the exact area of S can be written in the form a
b

 + ln c, where a, b and c 
are integers to be found. 

(6)

 (In part c, solutions based entirely on graphical or numerical methods are not acceptable.)
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14.

O 1 x

C

S

y

3
Figure 4

 Figure 4 shows a sketch of part of the curve C with equation

y = x x2

3
ln 	−	2 x + 5, x > 0

 The finite region S, shown shaded in Figure 4, is bounded by the curve C, the line with 
equation x = 1, the x-axis and the line with equation x = 3

 The table below shows corresponding values of x and y with the values of y  
given to 4 decimal places as appropriate.

x 1 1.5 2 2.5 3

y 3 2.3041 1.9242 1.9089 2.2958

 (a) Use the trapezium rule, with all the values of y in the table, to obtain an estimate for  
the area of S, giving your answer to 3 decimal places.

(3)

 (b) Explain how the trapezium rule could be used to obtain a more accurate estimate for 
the area of S.

(1)

 (c) Show that the exact area of S can be written in the form a
b

 + ln c, where a, b and c 
are integers to be found. 

(6)

 (In part c, solutions based entirely on graphical or numerical methods are not acceptable.)
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15. y

O

P

Q
x

Figure 5

 Figure 5 shows a sketch of the curve with equation y	=	f	( x ),	where

f	( x )	=	
4 2

2 1

sin x
xe − , 0  x  π

 The curve has a maximum turning point at P and a minimum turning point at Q as shown 
in Figure 5.

 (a) Show that the x coordinates of point P and point Q are solutions of the equation

tan 2 x = 2
(4)

 (b) Using your answer to part (a), find the x-coordinate of the minimum turning point on 
the curve with equation

  (i) y	=	f	( 2x ).

  (ii) y	=	3	−	2f	( x ).
(4)
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15. y

O
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Figure 5

 Figure 5 shows a sketch of the curve with equation y	=	f	( x ),	where

f	( x )	=	
4 2

2 1

sin x
xe − , 0  x  π

 The curve has a maximum turning point at P and a minimum turning point at Q as shown 
in Figure 5.

 (a) Show that the x coordinates of point P and point Q are solutions of the equation

tan 2 x = 2
(4)

 (b) Using your answer to part (a), find the x-coordinate of the minimum turning point on 
the curve with equation

  (i) y	=	f	( 2x ).

  (ii) y	=	3	−	2f	( x ).
(4)
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(Total for Question 15 is 8 marks)

TOTAL FOR PAPER IS 100 MARKS

Paper 1: Pure Mathematics 1 Mark Scheme 

Question Scheme Marks AOs 

1(a) (i)  3 2d 12 24
d
y x x
x
   M1 

A1 
1.1b 
1.1b 

(ii) 
2

2
2

d 36 48
d

y x x
x

   A1ft 1.1b 

 (3)  
(b) Substitutes x = 2  into their  3 2d 12 2 24 2

d
y
x
     M1 1.1b 

Shows d 0
d
y
x
  and states ''hence there is a stationary point'' A1 2.1 

 (2)  
(c) 

Substitutes x = 2  into their 
2

2
2

d 36 2 48 2
d

y
x

     M1 1.1b 

2

2

d 48 0
d

y
x

  and states ''hence the stationary point is a minimum'' A1ft 2.2a 

 (2)  
(7 marks) 

Notes: 
(a)(i) 
M1: Differentiates to a cubic form  

A1: 3 2d 12 24
d
y x x
x
   

(a)(ii) 

A1ft: Achieves a correct 
2

2

d
d

y
x

for their 2d 36 48
d
y x x
x
   

(b) 

M1: Substitutes x = 2 into their d
d

y
x

 

A1: Shows d
d

y
x

 = 0 and states ''hence there is a stationary point'' All aspects of the proof 

 must be correct 
(c) 

M1: Substitutes x = 2 into their 
2

2

d
d

y
x

 

 Alternatively calculates the gradient of C either side of 2x   
A1ft: For a correct calculation, a valid reason and a correct conclusion.  

             Follow through on an incorrect 
2

2

d
d

y
x
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